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’ 100kN/m%#BZ % -l -~ - -[3mZEBZS[ - ~ - - —| 100kN/ Mm% Z % - -~ - -[3mZEEZS -~ - - -
Zh Lot -l -~ - -| Zhris -~ - - - Fhst - -~ - -| Fhiist -~ - - -
9 100kN/mM%#BZ % -l -~ - -[3mZEEZS[ - ~ - - —| 100kN/mM%EEZ % - -~ - -[3mZEEZS -~ - - -
ZhList -l -~ - -| #hris -~ - - - Fhst - -~ - -| Fhiist -~ - - -
3 100kN/m%#BZ % -l -~ - -[3mZEEZS[ - ~ - - —| 100kN/mM%EEZ % - -~ - -[3mZEEZS -~ - - -
Zh Lot -l -~ - -| #hris -~ - - - Fhst - -~ - -| Fhiist -~ - - -
4 100kN/mM%#BZ % -l -~ - -[3mZEBEZS[ - ~ - - —| 100kN/ Mm% 2% - -~ - -[3mZEEZS -~ - - -
Zh Lot -l -~ - -| Zhrist -~ - - - Fhst - -~ - -| Fhiist -~ - - -
5 100kN/mM%#BZ % -l -~ - -[3mZEEZS[ - ~ - - —| 100kN/mM%EEZ % - -~ - -[3mZEEZS -~ - - -
ZhList 1.00/0.00 ~ 3.28 41.83] ZhLlst (000 ~ 3.28] 2.33 12.45 Fhst 1.00] 5.00 ~ 550 41.83] Znklst | 500 ~ 550( 2.33 12.45
6 100kN/mM%#BZ 5 -l -~ - -|3m%iBZ5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
Zh st 1.00/0.00 ~ 4.41 55.05| #hLlst 1000 ~ 4.41] 2.19 11.71 Thst 1.00] 500 ~ 6.40 55.05| #hbLlst | 500 ~ 6.40| 2.19 11.71
7 100kN/mM##BZ 5 -l -~ - -|3m%E#BZ S -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Zh Lt 1.00/0.00 ~ 3.65 4599 ZhLlst (000 ~ 365 217 11.60 Thst 1.00] 5.00 ~ 5.00 4599 Z#hLlst | 500 ~ 500 2.17 11.60|
8 100kN/mM##BZ 5 -l -~ - -|3m%E#BZ D -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Zh st 1.00/0.00 ~ 6.15 77.21] £helst 1000 ~ 615 1.97 10.57 Thst 1.00] 500 ~ 7.90 77.21| Fhilst | 500 ~ 790 1.97 10.57
9 100kN/mM%#BZ 5 -l -~ - -|3m%E#BZ B -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Zh Lt 1.00/0.00 ~ 6.88 87.10] #hrls |0.00 ~ 6.88] 2.01 10.75 Thst 1.00] 500 ~ 9.70 87.10] #hbList | 500 ~ 9.70| 2.01 10.75
10 100kN/mM##BZ 5 -l -~ - -|3m%E#BZ B -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Zh Lt 1.00/0.00 ~ 7.31 93.22| #hils 1000 ~ 7.31| 1.78 9.54 Thst 1.00] 500 ~ 9.40 93.22| #hbist | 500 ~ 9.40| 1.78 9.54
» 100kN/mM##BZ 5 -l -~ - -|3m%E#BZ % -~ - - —| 100kN/m%#8% % - -~ - -|3m%E#BZ 3 -~ - - -
Zh Lt 1.00/0.00 ~ 595 7450 £helst 1000 ~ 595 2.05 10.98 Thst 1.00] 500 ~ 8.10 7450| #hblst | 500 ~ 8.10| 2.05 10.98
12 100kN/mM##BZ 5 -l -~ - -|3m%E#EZ % -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Zh Lt 1.00/0.00 ~ 455 56.80] #hLlst 1000 ~ 455 1.90 10.15 Thst 1.00] 500 ~ 5.00 56.80| #h L5t | 500 ~ 5.00| 1.90 10.15
13 100kN/mM##BZ 5 -l -~ - -|3m%E#BZ S -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Zh st 1.00/0.00 ~ 4.69 58.50| #hLlst |0.00 ~ 469 2.03 10.89 Thst 1.00] 500 ~ 5.80 58.50|] #hLlst | 500 ~ 580| 2.03 10.89
1 100kN/ Mm% 25 -l -~ - -|3m%E#BZ 5 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Zh Lot 1.00/0.00 ~ 4.11 51.50] ZhLlst 000 ~ 4.11| 2.04 10.94 Thst 1.00] 500 ~ 5.00 51.50] #hbkist | 500 ~ 500| 2.04 10.94
100kN/mM##BZ 5 ~ ImEEAD ~ 100kN/m#%#8% % ~ ImEEZD ~
zh st ~ zhst ~ zh st ~ ZFhst ~ |
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